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f₁(x)f₂(x) = ∫ f)
*∝ ₁(x − y)f₂(y)dy                (1)        

 

f"(z) = [f( ∗ f*](z) =
1

2√πσ
exp 4−

1
2σ6 7

z6

2 − 2zµ + 2µ
6:; 

 

f"(z) = [f( ∗ f*](z) =
1
2√π

exp 3−
1
4 z
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𝐿𝐿𝐿𝐿𝐿𝐿 = 𝐷𝐷&𝜎𝜎t        𝐿𝐿𝐶𝐶 = 𝑇𝑇        𝐿𝐿𝐿𝐿𝐿𝐿 = 𝐷𝐷)𝜎𝜎t           (2)                                                                                                             
 

f(n)g(n) = ∑ f(k)∝
*+,∝ g(n − k)       (3)                                                                         
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Diámetro interno Diámetro externo Variables convolucionadas 
74,50 109,65 35,15 
74,76 109,80 35,04 
74,50 108,60 34,10 
74,40 109,35 34,95 
74,40 109,10 34,70 
74,12 109,43 35,31 
74,50 109,55 35,05 
74,50 109,05 34,55 
74,50 109,50 35,00 
74,50 109,50 35,00 
74,50 109,50 35,00 
74,50 109,50 35,00 
74,18 109,47 35,29 
74,40 109,22 34,82 
74,08 109,44 35,36 
74,08 109,13 35,05 
74,40 108,83 34,43 
74,70 109,05 34,35 
74,30 109,73 35,43 
74,10 109,05 34,95 
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